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6. (1) Fo=F,=kx, =10 N,F, =k(x, + Ax) =14 N, AF, =kAx=4 N,
F,=k(xy-Ax) =10 N-4 N=6 N.
(2) b ,AF," =1I0N, F/'=F,+AF,’=10N+10N=20N,
m F,) =ma, a:Fm 2200 m/s’ =10 m/s*,
(3) F,/= -5N L,AF,)=15N, F/"=F,+AF"=10N+15N =25N,m
F'=F"+ IF,/1 =25 N+5N=30N, m a' =
%—;%W =15 m/s, SE
7. ~umg =ma, a= -pg, a4 = 8,0y = ~ g 5E
0 —v* =2as, s:—i, szzafl—*—7 ,$, =75, =9.8 m.
2a Si Gy Wy
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F o2 aryey
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AR Tr % ( ) ( )
[#A#F1] (06 ) m ,
At , ) v
A my + mgAt, %mv
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''''' SHI TI DIAD YAN
B. mv + mgAt,
C. mo, %mv2
D. my —mgAt,
ﬁ?#ﬁ’ ) [Fv
, d, —mgAt=mv -0
I, =mv + mgAt
. B .
[Z3#77 1] h ,
At, ?
[R5 % %] « 7,
s , I=Ft
[A#F2] (06 ) " . m
hl ’ h25
t’
- ( , g)
t b F’
Ul ’ Uz,
Fr=Ap O Ap=mw, —mw, @
1
!7"“)? =mgh,, v =/ 2gh, ©)
7m11§ =mgh,, v, =.,/2gh, @
m./2gh, —m./2gh
DRE® =PRI )
? 9
, )
&
ﬁ?#ﬁ’ : ”,'_'_;_
(1) @ , ,
:Ap =mvy +mw,5(2)D ,
A =(F-mg)t=Ap =mw, + my,, F=mg+

mv, +mv,

t

2gh, +m ,/2gh
—mg+m gzzm gl;(S)

F

>

QU—— &4
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g +m\ 2gh, -:-mA/Zgh1

F'=F=

;(4)

« ”

[ 7 &H75] N ,

(A 3] 1-4-1 , - . ]
, ' , ' 14-1 ‘

A. ,

B. ,

C. , ,

D. , ,

ﬁ?#ﬁ— 9 9 ’

’ >

ACD .
[ 7 &H7] 5 5

O— (& |#®) (HEHH)

B
P,
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""""" MA= mERMtesEss
: AR Ty ik ) ’
(1) PP =p +p 5 (2) B +En=E +E,5(3) N
: ’ b ’ v $v I
[A#F4] (06 ). ,
pi=5Skg m/s,p, =T kg + m/s, ,
10 kg - m/s, m;, m,
A.m, =m, B.m, =2m, C.m, =4m, D.m, =6m,
R , p'i=2kg - m/s,
s v, > v,, v = p/m
pi/my >py/my, my >Tmy /5, A 3 , v <,
p/my<sp'y/my, my<5my, D ; Ey +
EnZE,' +E,', E, p E =p'/2m, :p1/2my + py/2my =
p'i/2m, +p'3/2m,, m, =51m, /21, B. S51m, /21 <
m, <5m,, C
[i%fi%“‘] D5
D “ o “« ).
’ U P Ek ’
""""" MAw poP () RATeSETE
AT i , ,
[#A#F5]) M =100 kg , s=45m
s m, =0.5 kg , )
» =50 m/s ) A
7
0=2.5%x10" kg/s. , %
(D , ?
(2) , ? 7 (
)
A (1) m, )
-
| e

[l



:my =Qt +m ®

:t=S/7}1

0ee) .m=0.05kg 0.45 kg
0.05 kg=sm=<0. 45 kg.
(2) s m kg s Am=Qt+m @
:mw =My, t=—o, ;t:ﬂ
v, my
2
; @  Am=OM 2B x107
mv m
-2
m:zzs#10 , Am , m=0.15 kg, =ﬂ
m my
=600 s.
[ 7 %H57] ( )
""""" WAL 3RMEAMEYOHEFE 00
AT & (
)' 9 b
[A#r6] M m
o s 5
H N b
f]% v, v+u( u U+ U
o , U s U ). Vo
s , v, 5Sm/s,u
% 4 m/s,M =30 kg,m =10 kg.
e (1) ;
i (2) .
bl ( .1g 2 =0.301,1g 3 =0.477)
fpr (1) , 1 vy,
, My, +m(v, +u) =0
L%

AN R
'mii
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1 , v, My, + moy = (M +m)v,’
,_—Mmu+(M+m)m110
s (M+m)?
u= -4 m/s,vy =5 m/s,M=30 kg,m =10 kg v, =2 m/s.
(2) , (n-1)(n=1)
Vo1 (n=1) v,y Mo,y +mw, = (M +
m)”rl/
n s v, My, +m(v, +u) =(M+m)v,_,’
v, = M ) +L(v -u)
"TMAm "' M+m
(1) vy=1lm/s, v,=3m/s,v;=9/2 m/s,v, =45/8 m/s
vy < vy < vy, 3, v,
=5.625 m/s.
[Z#dek] ?
?
? ? s
ﬁé&ﬂn@]é‘: |
1. (T1 ) 1-4-2 , C).C) ,
, A , t, () A )
() A B !
4
A () () sf
B. () ¢ ) e
c () () o
D.
2.(T1 ) 2004 1 4 « o»
16.2m 20
- -
. . fis 2

[l
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, 12.5 m/s, 200 kg,
0.4s, . (
g=10 m/s?, )
3.(T2 T3 ) , 1 500 kg
3000 kg , ,
s 20 m/s
A. 10 m/s B. 10 m/s, 20 m/s
C. 20 m/s, 30 m/s D. 30 m/s, 40 m/s
4. (T2 ) s ,
A. s
B. ,
C. ,
D.
5. (T4 ) , M =6.0 kg(
) v, =60 m/s.
s m=4.0 kg. N
R =600 m , 72 (g=
10 m/s”, )
6. (T5 ) 1-4-3 s s
M,M m 17
’ v s
#x ?
E 7. (TS ) 1-4-4 , !Tlfﬂliﬁ”i’ @
im ) ’
pod 123, , m, 144
~ o
% t=0 , 123, Vo 20, «
= 3vy..ny,, .
" (1) v,
T (2) t=0 t;
(3) (n-1) oy

oO——

AN R , , ,
'mii :



[ 5% % %]
B S T
1. v),=@, s
Jp —mgAt =0 - (=mv,) =m2gh, I, =m2gh+ mgAt =mg.2h/g
+ mgAt.
LY ADEE S S
1. C Fi , ,
2. N vV, t, v, =
% T, : (F-mg Jt=mu, - (—mv,),
GM m GM m
T:mg ’ : R =mg ,
F=1.3x10"N.
3.A , ,
10 m/s.
4.B ,
R Mvy =(M+m)v, v ;
s , (M+m)v=Mv" +nmv
v =v,
5. H, . vp=2gH,
m v, v, , mv=(M
-m)v', m t, s H:%gtz,
R=ut, s EkBLmv2 +L(M -m)v'?,
2 2
E@%%:ﬁ.onoﬂ, 6.4 x10" J.
Uy Uyttt T, n s
:mw =My,
Mo, + mv =Mv, —mw
Mo, + mv =Mvy —mw
n My, _, +mv=Mv, —mv
v, =0, M=17Tm
2n -1
:”n=TU>”
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:n=9, 9
7.(1) , m(v, +2vy +3v, + - +nvy) =2nmo,,
v, =(n+1)v,/4
(2) n , n , — umgi
=mw, — mny, , t=(3n-1)v,/4ug -
(3) (n-1) , ,
n v

m(vy +2vy +3vy + - +nvy) =2n-1)mw,_; +mo @
n-1 s —umgt’ =mv,_, —m(n-1)v, @)
n s —umg t' =my — mny, @

O3 v,y =(n=1)(n+2)v,/4n.

W 3 r1

CEE N

L N . , ;
2.
3. H
4.

= FEHXEH A

10

= ST R ek

O— () (H=®mE)

35 , , ,
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@ & 4 18 44
MR MALSGeEmAG AR
AT % (1)
, ;(2)
, ;(3) ,

B. A
C.B A A , A B B
D.B A A , A B B
fi A A B ( )
, A.B , R A
; , A )
[k _ A
m, m,+my’ m, +mpy
s B s AB B A (
) A , A B ( ) B , A.B
,B A ( ) A , A B
( ) B C.D
[# 5 %7 “ " 5
: , D. i
s A B
[A#r2] ( ) m=1t >
vy =12 m/s, 20 m 1 m Vo =
8 m/s. R
vy (g 10 m/s)
e o, sin o =0. 05,

Ty

3]

QU— &%
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Fy,

;P=Ff1)

ml

. P .
F' +mgsina=F,, —+mgsina=F,
U3

(Z##r3 1]

P =(F,+ mgsin a)v,,

F',

0,5 =24 m/s.

[ £eii540]) : P=Fy F-f=ma P
v F ,a , s
F=f,a=0 v v = ﬂ
T S
W =Ps . W =Fs ( F ).
P=Fv F-f=ma , F s a
s v ,P s P P,
’ Pm Pm
, v = < 7 =v,,
W=F-s , W=P - (
).
"""" MA= HeeRmALsR T
ATy & ,
Ey, Ey;
. T
m o LmEs) s N v
i v S C
g vz; B s 4 G Pre
~ A vy 1-5-2
—
= vy Vg ,
— Av, >y B.v, =v,
ﬁ C.v, <vy D.
AT c c
2
J N-mg=" N , ,
-
N1 , ,
' 30 C

'Hij: N ’
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fs=AE, , c ; D
12
, v
D , mg —N' = R ,
N ! ’ ’ ]’S = AEk’ ’
D ’
(fs +/'s) , , , A
[z 5 %5 : ,
C D s s
"""" WA= AR TRea gL
MAETr % “ 7
3 " ( E =E)
[E#F4] ( ) 1-5-3 , 2m  3m
A.B, 0 A0 .BO
2L L A0 B 0
(1) A A v;
(2)B ;
(3) B v,
By Y P 3 S0 4 ,O\ P 8
“L3s ’///6 N
B l” B \\\\
o L L :: ”/10‘ B \\\)
B 4 5
BO 2m () Z) (7) 2
1-5-3 1-54 ZE
fE AT , 274
(D A ,AB B , ,
A B 2 1-5-4( ) , .
"
( ) ( ) ( iﬁi&ﬁ
) = It
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2mg-2L=3mg-L+%-2m-v2+%-3m(i)2, v = 8sL

(2)B 0

« ’

, , 0OA
1-5-4(C ) ,

2mg * 2Lcos a =3mg + L(1 +sin a), :4cos a —3sin a =3
sin (53° —a) =sin 37°, a=16°.

(3)B
W,, OA 0

L
2

[Z3#75 2]

)

2m  m

’

’

A A
B.A
C.B

D.

[ 7 %3#75]

:mgL(4sin @ +3cos § -3) <2mglL, v

’

B , 1-5-4( ) R

< 2m - (20,)° +% -3m - v, =2mg - 2Lsin § —3mg - L(1 - cos 6)

- /4L
m 11 -

AB
1-5-5 , )
B
A
A

:(l)mgh+%mv2 :mgh'+

%mv/z, E, +E, =K' +E,';(2)AE, + AE, =0;AE, + AE, =0; - AE, = AE,. (1)

) 5 (2) )
- AE, = AE,,

%" , , - AE,
B =AL

;‘;‘; """" MAw A AGER@ALA T
~ AT ik :

AR (1) :
E v can, :(2) (W,|
| i=-AL), .(3) W =0 , , ’
i [(4) :

(f-d=0, d

| L e
-
ANk i ( ) ( ) (
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[iA#F5] (06 ) 1-5-6 , A m =0.01 kg,
n=0.2, m =0.01 kg,
x A 1 s=2 m.
L]\L2\L3\“.( ) )7 ) Yy =
10 nvs , ,
g 10 m/s,
(1) ?
(2) n L,
it (1) o o,
Yo Os
| &b %,
' ’ 1-5-6
S0 pmgs, = —-mug
: 80 =25m
n=-Y_12( )
s
(2) n , v,
2
1 2 v,
——mwv, =——mv', +2mgL, mg =m =
: —um, ns—erw2 —Lmv2
. M g - 2 n 2 0
1 _ % =2pgsn 50 -4n
o Sg 25
[ .5%5] ,
( Ve , “
&5&«5@]& |
e
1. (T1 )
’ m, ﬁlﬁ'
)a m2 ’ i
, v
1-5-7
A. .
A 4
( ) ( ) ik i <5
‘ ’ z]
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B.

C. m,gv

D. (m, +m,)gv

2.(T2 ) NBA , ,

0.1s s
W, hy, h, , m,

A. W +mgh, —mgh, B. W + mgh, — mgh,

C. mgh, + mgh, - W D.mgh, —mgh, - W

3.(T2 )

AB  AB'( ). ™o
4 AB S
AB' BC 1-5-8 158

A. B B’

B.

C.

D. B B’

4. (T4 )

, , 1-5-9
m v )
’ 1-59

A.
;E B.
o C.
i D.
o 5. (Tl ) 45
e R t S, ,
#
% i(s) |0 |2 |4 |6 |8 |10[12|14]16 18|20 |22 |24 |26 |28
~ s(m) | 10 | 32 | 63 [103|151 (207|270 (339|413 491|571 650|730 (810|891

(1) ?

. (2) vy =40 m/s, f v s

LY
e ik i ( ) ( )

P

[ Jib

(



pP,, N P, I v
(3) m =1 500 kg, P,.
6. (T4 )10 —
’ 01\02\03\“'\010, @@Y@ ''''''''' Ol.g)
0,0,,=3.6 m, ,
1-5-10
i1r/s
™
0.8 m, 2.0 kg ,
0, ( 1-5-10 ), 0.16,
(1) ;
(2) ( g 10 m/s)
7. (T3 ) 1-5-11 A B s
, Cc A h s "'@C
A , , A C I
, B A.B.C
m, k,
, C
h.
[5%%5%]

w P=(F +mgsina)v,, F =—""—mgsina=1000N;

Umi = V2
F, F:F/-:IOOO N,
P=Fv, =Fw, =1 000 x12 W =12 kW.

ml —

2. BCD A . ,
’ ;A ’ L’A
1
L, mg-(5L) , A
2 33
;A , .B =
, B A 5
RALE X AE L E: w
1. AC s m, s s
m,8v; s .
2. A W-mg(h, —h,) =AE,, AE, =W + mgh, —mgh,.
-
( ) ( ) ( iﬁi&ﬁ
) I Iih
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3. AB mgh —fs = %rmﬁ , f=umgcos 6, f
=umg, A.B ; )
s C.D
4. AD , ,
5.(1)
(2) P, =Fv, F=f=hy,, P, =kl k=P,/ v}, =k,
0 o 0 0 o/ Vo
f=Py/ v
(3) W, -W =imvz, W, =P,At, W, =fAs = P,oAs/vy = Pyv* At/ v}
] 0 0 / 0 0 0 0
2
PyAl = PyoAs / 1f = PyAL— Py A/t =mi? Py =0yt
2 2At yy —w
4~18 s ,{J=A3/At=%m/s:30.6m/s, P, =
208 kW
6. (1) U=21an=21T(i) x0.2 m/s=1.6 m/s
™
a=pg=0.16 x10 m/s* =1.6 m/s’
v 1.6 m/s
ty=—=—"-—"-=1s
1.6 m/s
1 1 2
5 =ty :7X1.6><1 m=0.8 m
$=3.6m-0.8m-0.4m
=2.4m
oy 12 2.4
s ;t—t1+v—ls+1.6s—2.55.
(2)

s AE = —m* +fd

(0+v)t, _
2 1=

W, =fd =umg[ vt - %mvz

AE:%mvz +fd=2.0x1.6*]=5.21].

, kAx=mg, C h v, mgh =—mw

oO——
~
S
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A ', mv=(m+m)v'
A C ,B , kAx' =mg
:szAx’, A.C
%(m+m)v’2=2mg(Ax+Ax'), hzs%g_

< xarmal

"\%%f}z(\‘ﬂs\:

o
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[A#F1]  ( ) 1-6
c
-1 s F /,'
s P
— N
s s s 4 \\
’ ’ ‘a
1-6-1
A. Ba
B. Bb
C. Be
D. B A
AT 1-6-2 s A.B vy, vy Bb
) ) -F ’ F
. F A B JF [%
( Ab' Ad' ), B -F 0’ , , Be
. A.B.D
[ 5 %37 AB ,
’ ’ AB 9
F AB ; -F, ,
"""" ME= mHesSAEsMEAR
BT % :
= N
R 2
i [iA#r2] ( ) ,
Eﬂ ’ ’ Z}l ’ Z)27
18 A 0 d s
il 0
T
dv, dv, dv,
e A. B.0 C.— D.—
-ﬁi ’U% 1}? Uy vy
= firAt : :
" d
il Z)2 ’ ’ tziy 0
Uy
dv,
x=vt=— C
Uy
\ Y
) ( ) (

AN ik iB
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(2357 1] , 0 ,
v, ? ? 0
?
[ k475 ] “ "
) ”( ) : :
""""" MA = FREseAEESAF
[#ar3]) , 0.8 m,
1.25 m, 2 m, 1-6-3 s s
A ,0.2s B
, (g 10 m/s)

2 . 1-6-3
, A 0.2s B
’ 271‘7;——-'B
’ DA\DB’ /’/’ : :
d, A 0.2 < Do
5 S 2 // 4 :Ax‘
Ax, XaXp, /’// 1 : 1
2 Pt
1-6-4 , g L
2D 2D _.|
x, =20 -4 Xy =20 = X4 d &=z
g &g — x; — e
1-6-4 X, +d =xp + 0k, 1-64 !§c:;'
v =5 m/s. E,ﬁv
[ 7 %457 ; N
[mar4) 1-6-5 , 18 m, 2m, {
(P45 ) ﬁﬁigﬁ
[ 1t
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g 10 m/s7).
(1) 3m 2.5m
, A_|_2m
T T
? ] I J
(2) 3m / /
1 I
! /
b 9 II l,
’ ' : [y !
A (1) 1-6-6( ) , ' 18m '
’ 1-6-5
’ 19
1 5
shy —h, :Tgtl Sp =0t
0, =310 m/s
) r"'"\~\ - ——
r== \\ ~o F==3--4 -
2 : AN \\\ : AR
N N
h, = ; gts s, +s, =01, i hy A \\\ \\\ i hs | \\\
1 ] | 1 1
Uy =122 m/s Isl:3r!~1 $,=9m Islf3n!1 $;=9m
) () (V4]
1-6-6
;3 «/10 m/s <v<<
12/2 w/s.
(2) 1_6_6( ) ) )
1
hy, Vo thy —h, =7¢‘>’t§ S1 =0yl
I »
:h, :Tg@t $; +8, =yt
. v chy =2.13 m
iR 2.13m ,
. [ 5 % 457] (1) :
& (2 , .
T
= AW W AEHEREG sy
— AT &
5=} N ;
J ( )7 ’
@ e
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[A#5] (06 ) ) m,
R, v,
, n ,
?
f AT F, Fy=mg+
n=F,/F,, Fo=(mg+F)/n
:F =m0’ /R
2
F=w—mg.
R
[Z3h#73 2] 6( ),
?
[ 7 %457
[A#F6] ( ) , )
R( ) (
)’A m] 7B m2' ’
Vg A ,B ’
s m, .m, R v,
%#ﬁ— 1 _6 =7 aA ) )
,B
s B
yB v
:7m21;2 +m,g 2R =;fmzv§
, A
2
o
Ny —-mg=m, ?
v :
B N, +myg =m, R e
174
N, =N,
m;.m, R v,
v
(m, —mz)?+(m, +5m,)g=0.
"
o
= 1
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{i%‘;ﬁ-&ﬂ?] :A N, =

SNTE

L(T1T ) v, A
1-6-8 ., B , A,
: 5
A. , @
B. , @
C. , ®
D. , ®
2.(T2 ) 1-6-9 | / 4
’ H’ u, v, :
2 i
?/3’11, . 60° B £60° 607
A 1-6-9
Y A
) B.
4 C
e
H D. A
~F 3.(13 ) )
% , -«
= )
5 w=/i9. ALy 1-6-10
il 24t BV hz
’hl \h2
AL h, \h, :
©
A ik i (Pag )

P
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2 9.8 /s, 1-6-10 ,
a.b
A.ab
B.a.b
C.ab
D.a.b AL
4. (T4 ) v s
A , 1-6-11 s A
0A OB 0
7)2 7)2
A. arcsin — B. arccot —
Rg Re 1-6-11
2 1}2
C. arctan — D. arccos —
Rg Rg
5. (T3 ) 1-6-12 s P.Q 4 —v
A B P Q , i L
h, h,. A v, » Vy o hz:Q
, ‘ B v, , TR TR RSy
P.O o , 1-6-12
A. PO: 0Q =v,h,: v,h,
B. PO: 0Q =v,hi: v,h)
C. PO: 0Q :vlﬁivzm
D. PO: 0Q =h,: h,
6. (T4 ) 1-6-13 , 10 W
m,
B=30° .
(1) 3 1-6-13 =
=
(2) 2 , o
a (g 10m/s™) w
(5% 5%]
B3] ERRT
1. 0 , 0 ( ), 1-6 {
Qo
(P49 ) ﬁ%ﬁ
b It
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vy
-14 s cos § =—,
)
Yy
arccos — v, >v,, 0 ;
Uy
_d
v,sin 6

RALE X AE AR

1. AC v
2. AD vsin 60°,
(wcos 60° +u) ,
H
60° =u, s=(vcos60°+u)m
, A .
3.BD l:ﬁ
4
a.b AL.
4D , 0A
2 2

, mgcos @=m 6 = arccos —.
Rg

v
R b

’

A

’

=23,

2h, 2h,
5.C A PO=vit,=v,,/—, B 0Q=uvyt,=v,,/]—,
g g

PO: 00=vl/ﬁvz/h7

6. (1) G T )
x0y ,x AB,y . x
Y , oot
x :Tcos (6 +B) —mgsin 6 =mw'R
y :Tsin (6 +B) =mgcos 6
.o :\/gcos Ocot (0R+B) —gsin 6 —0. 84 rad/s.
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